87,761,000

Of & AF &S E N A
HE x5 &2
RS
AYHN ALY
0l Xt 4 ¢} cr9l e
200 M2+ 93,917 248,414 N 154,497
JadHMe=Y 6,156 150,280 AN 144,124
216 Ol Xt==¢ 6,156 150,280 A 144,124
216-02 QUL E X33 6,156 160,280 AN 144,124
SA3H Y 6,156 150,280 A 144,124
= 0fl & 6,156 150,280 N 144,124
ouas8X= 0l k== 6,156,000 6,156
SAHMe = 87,761 98,134 A 10,373
224 JIEt==¢ 87,761 98,134 A 10,373
224-06 el+¢ 87,761 98,134 A 10,373
SA3 Y 87,761 98,134 A 10,373
= 0l & 87,761 98,134 A 10,373
OXNSXEHH 2 87,761




o BESASUUEHY
B EELYUS
& : guzez4 (crol e
(o] (o]
ETIE T o) o) HDZ2
700 EMd=2UASLLLHE AN 818,313 313,777 504,536
710 Ed2S 140,000 0 140,000
713 g2 2+< 140,000 0 140,000
713-01 Q28X 33+ 140,000 0 140,000
SXE M 140,000 0 140,000
= 0l & 140,000 0 140,000
ogzzskasls = 140,000, 000 140,000
720 LHEHH 678,313 313,777 364,536
722 HEZILU=3 678,313 313,777 364,536
722-03 GEZEAS33 Y 597,000 232,000 365,000
SXE 3 597,000 232,000 365,000
= 0l & 597,000 232,000 365,000
OsgaeII2 =2 =23+ (AMPLIXE
o) 597,000
597,000,000
722-04 OIE 30l Rt 81,313 81,777 AN 464
EPNFSE); 81,313 81,777 AN 464
= 0l & 77,896 81,777 A3,881
Osgaelll3 HE= ol 77,896
77,896,000
JIZAHEHB It ( 81,313) | ( 77.896) 3,417)
Osgaellla HE3 ol
2,079,943, 1332 *3.909405% | ( 81,313) | ( 77,896) 3,417)




N = 0 &8 AF S & Al A
20179 & =& 13 &2
SN ENEYY
HaM: 20| ZMESEX(AISEX /I =MESR)

S XNEIIZ2 2E2(XHEI2) (e &
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;lﬁ% HRE2
SXE 0 912,230 562, 191 350,039
20IJ|ZMEBE(AEX /I ZHESE) 597,000 232,000 365,000

a2 22 (M) 597,000 232,000 365,000
AHEHRFE DB XM 597,000 232,000 365,000

307 QIz2tol & 277,000 132,000 145,000
02 QI2tFAAHEX 277,000 132,000 145,000
= 0 & 277,000 132,000 145,000
O Xteolg 22 dSIF stAIE oA
24,000, 000*3H 2 72,000
O XHEXIa At 205,000,000 205,000
501 A3 320,000 100,000 220,000
01 QI2tE8Xt= 320,000 100,000 220,000
= 0l & 320,000 100,000 220,000
O XEI(AMEH) 823 320,000,000 320,000
HEESS(SEXNZMY)(AMEER /I =MHESEE) 315,230 330, 191 A 14,961
HEHAHX S (KHEDIS) 315,230 330, 191 AN 14,961
sga&2l2 HE2 315,230 330, 191 AN 14,961
704 OE2 315,230 330, 191 AN 14,961
01 &= 315,230 330, 191 AN 14,961
= 0l & 311,813 330, 191 N 18,378
Osg&el2 o= 311,813,000 311,813
JIS2HEHIIX ( 315,230) | ( 311,813) 3,417)
Ooseg&el2 o= 315,230,000& |( 315,230) | ( 311,813) 3,417)
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